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1 VB.NET is the next version of ………….

(A)C++ (B)VB++ (C)Visual Basic (D)None of these

2 GUI stands for …………

(A)Gray User Interface (B)Graphical User Interface (C)Graphical Unique Interface (D)None of these

3 ……..and FCL part of the .NET framework.

(A)CLR (B)BCL (C)CLP (D)None of the above

4 CLR stands for ……….

(A)Common Language Runtime (B)Common Language Running (C)Competitive Language Runtime (D)None of the above

5 Which of the following is the correct statement?

(A)VB6 an object oriented Programming
Language

(B)VB.NET is not object oriented
Programming Language

(C)Both A and B (D)None of the these

6 FCL stands for ……………………

(A)Framework common Language (B)Framework Class Library (C)Frame class language (D)none of the above

7 Which is a property of a common control?

(A)Name (B)Click (C)Select (D)Keypress

8 Which has both property and method in VB.NET

(A)Object (B)Attribute (C)Method (D)Form

9 …………… is /are the Visual Studio Languages.

(A)Visual Basic (B)C# (C)Both A & B (D)None of the these

10 ……………. is a basic Windows form, a code file, a module file for storing functions.

(A).vb (B).htm (C).BMP (D)none of the above

11 All the projects in the solution are saved with the extension …………..

(A).txt (B).htm (C).vbproj (D)none of the above

12 When you save a solution, its give file extension………………..

(A).sln (B).htm (C).vbproj (D)none of the above

13 Microsoft Visual Studio use the ……………………. Environment.

(A)Integrated Development (B)Common Development (C)Interconnection Development (D)None of the above

14 How many levels of compilation happens in .NET Framework

(A)One (B)Two (C)Three (D)Four

15 MRU stands for……………………..

(A)Most Rated Unit (B)Most recently used (C)Most Rated Unique (D)None of the above

16 The ……………… windows used to change value of property at design time.

(A)Class view (B)Help (C)Properties (D)Solution Explorer

17 A =15

B=2

C= A MOD B

C=?

(A)7 (B)1 (C)1.5 (D)None of above

18 In VB.NET ………………is used to perform string pattern matching.

(A)Like (B)= (C)== (D)none of above

19 In VB.NET ………….is used for string concatenation.

(A)& (B)+ (C)a & b (D)?
20 The --------------------provides a runtime environment for the execution of code written in .Net Languages.

(A)Common Language Runtime (B)FCL (C)Both a & B (D)none of these

21 VB.NET -------------------------- used for structured exception handling.

(A)On goto Error (B)Try…Catch ...Finally (C)Try …Handle (D)None of above

22 A ………….block is always executed when execution leaves any part of the Try statement.

(A)Finally (B)End (C)Execute (D)None of the above

23 Dim int1=0, int2=1, int3 as integer

Int3=int2/int1

Which type of error occurs?

(A)Overflow Exception (B)Argument Exception (C)Both a & b (D)none of above

24 ………… is not the conditional statement.
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(A)For….Next (B)If….End if (C)Select Case (D)None of the above

25 Try…End Try Block consist ……………….keywords.

(A)Finally (B)Catch (C)Both a & b (D)None of above

26 ………… statements that breaks out of the Try……………End Try Blocks.

(A)Exit for (B)Exit Try (C)Exit (D)close

27 A ……………………block is always executed when execution leaves any part of the Try Statement.

(A)Always (B)Finally (C)Both a & b (D)None of the above

28 …………………..a procedure that return a value.

(A)Sub Procedure (B)Function (C)Both a & B (D)None of above

29 ………………., which can contain both code and data.

(A)Structure (B)Array (C)Both a & b (D)Class

30 …………… words reserved for Visual Basic’s use.

(A)Keywords (B)Reserved Key (C)Fix Words (D)None of the above

Examination October 2020

A5B7B2FD2AB0AB73FDB6F238FBAA5C5C


